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X T & 105,000 75,000 75,000 75,000 15,000 15,000 15,000 375,000 100.00%
R HEE 0 0 0 0 0 0 0 0 0.00%
HE KR E 0 0 0 0 0 0 0 0 0.00%
BEHERE 0 0 0 0 0 0 0 0 0.00%
% EBANE 1,887 1,887 3,497 0 0 930 0 8,201 2.19%
pﬁq L #H Z 0 0 0 0 0 0 0 0 0.00%
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L B # 0 0 0 0 0 0 0 0 0.00%
A B E 0 22,650 0 0 0 0 0 22,650 6.04%
= % M & 0 27,000 7,219 0 0 496 0 34,715 9.26%
TOMDTEE 22,816 23,463 6,222 8,656 0 0 0 61,157 16.31%
X W £ 24,703 75,000 16,938 8,656 0 1,426 0 126,723 33.79%
% R B 80,297 0 58,062 66,344 15,000 13,574 15,000 248,271 66.21%

KBRU-BEQEMAKRGX. MEREAZRAELTVD-O ., BBEZTDODRRDHADL—BLEGWVGENHYFES .




